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3 782 39,745 6 50.8 320 0.0]
4 557 29,790 53.5 23.9 0.0|
5 550 25,702 10 46.7 20.6 0.0|
6 830 35,735 431 28.6 o.o|
7 699 26,325 5 37.7 21.2 0.0|
8 1,217 46,327 15 38.1 36.8 0.0]
1,960 39,989 8 20.4 31.7 0.0|
9 *x 836 836 6
(42.7%) (2.1%)
3,010 46,179 9 15.3 36.5 0.0|
10 * 1,612 1,612 1
(53.6%) (3.5%)
2,697 35,214 7 13.1 27.8 0.0|
11 * 1416 1,416 3
(52.5%) (4.0%)
2,247 43,307 4 19.3 34.2 0.0|
12 * 1,007 1,007 0
(44.8%) (2.3%)
1,928 25,862 4 13.4 20.3 0.0|
13 * 882 882 1
(45.7%) (3.4%)
1,847 27.411 18 14.8 215 0.0|
14 *x 859 859 4
(46,5%) (3,1%)
1,585 29,355 6 18.5 230 0.0|
15 * 627 627 2
(39.6%) (2.1%)
1,666 28,175 5 16.9 22.1 0.0|
16 * 678 678 2
(40.7%) (2.4%)
1,545 27,019 7 17.5 21.1 0.0|
17 * 587 587 2
(38.0%) (2.2%)
1,491 39,026 6 26.2 305 0.0|
18 * 359 359 5
(24.1%) (0.9%)
396 11,355 1 28.7 8.9 0.0|
19% * 101 101 0
(25.5%) (0.9%)
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FLIRT 9 202 - 12 316 - 6 256 -
=+ 13 261 - 9 112 - 2 26 -
SLV=FEm 4 44 - 7 129 - - - -
FEM 5 468 - 5 220 - - - -
REABXAD 85 2,329 - 88| 1,903 - 19 314 -
EM 33 526 - 18 475 - 9 177 -
JI T 6 152 - 4 51 - 1 26 -
Friam 3 47 - 10 243 - 2 55 -
B4 9 244 - 1 3 - - - -
EMNT 4 687 - 5 83 - 2 30 -
2EEM 14 458 - 23 794 - 6 226 -
mEH 15 265 - 16 668 - 9 232 -
KB 44| 1,735 - 48 714 - 5 73 -
b 10 184 - 8 172 - 6 166 -
WEH 10 84 - 22 717 - 9 349 -
/=1 486 657 - 261 456 - 82 140 -
JE AT 6 188 - 10 92 - - - -
fEEH 18 260 - 17 233 - 8 105 -
ABJITH - - - 7 248 - 2 50 -
BRfET™ 2 6 - 1 6 - - - -
BEHT - - - 1 13 - - - -
Em 6 177 - 2 782 - 2 33 -
BT 4 215 - - - - 1 49 -
LhEM 3 196 - 1 1 - 3 191 -
FHEM 4 156 - 1 48 - 3 73 -
Ik 1 2 - - - - 1 73 -
tE™ 2 86 - 3 42 - - - -
HWAEE™ 1 7 - 1 3 - - - -
HEERT 4 315 - 1 4 - - - -
=1l 6 94 - 3 112 - 3 31 -
®iRM - - - 8 123 - 2 14 -
RHT 4 60 - 4 51 - 1 6 -
G3=hil 3 42 - 7 77 - 3 69 -
= 1:th+ 1 136 3 170 - - - -
24H 7 43 6 30 - - - -
e T 3 16 - - - 1 35 -
N7 5 32 - 6 65 1 40 -
=Y 5 36 - 5 41 - - - -
IERR 3 90 - 6 244 - 2 44 -
ZRW 6 66 - 1 18 - 4 49 -
I 3 166 - 14 740 - 1 20 -
R - - - 5 177 - 3 47 -
=L 01] 3 73 - 7 785 - 1 7 -
Rl 4 11 - 4 12 - 1 2 -
TE™ 4 71 - 7 63 - - - -
=187 4 266 - 6 140 - 2 366 -
NI 10 231 - 11 165 - 2 34 -
=¥l 4 44 - 6 249 2 20 -
RiBH 11 113 - 5 249 - 4 42 1
REARTH 5 46 - 5 277 - 1 51 -
Ko 3 25 - 6 116 - 5 98 -
BT 1 3 - 5 197 - 2 58 -
EREM 2 117 - 4 54 - 1 5 -
IMET - - - 3 28 - - - -
BRiR™ - - - 3 132 - - - -
=Y 2 43 - 7 156 - - - -
wEm 4 214 - - - - 1 19 -
am 4 104 - 1 2 - 1 8 -
RKEHM - - - 1 22 - 1 12 -
RS 2 141 - 3 29 - - - -
INEFH - - - - - - - - -
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=4t 9 158 - 11 191 - 1 23 -
Els B 9 16 - 5 5 - 2 2 -
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